Use the code to find the answer to the joke.






LA

	a
	b
	c
	d
	e
	f
	g
	h
	i
	j
	k
	l
	m

	26
	25
	24
	23
	22
	21
	20
	19
	18
	17
	16
	15
	14


	n
	o
	p
	q
	r
	s
	t
	u
	v
	w
	x
	y
	z

	13
	12
	11
	10
	9
	8
	7
	6
	5
	4
	3
	2
	1
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Use the code to find the answer to the joke.






MA

	a
	b
	c
	d
	e
	f
	g
	h
	i
	j
	k
	l
	m

	26
	25
	24
	23
	22
	21
	20
	19
	18
	17
	16
	15
	14


	n
	o
	p
	q
	r
	s
	t
	u
	v
	w
	x
	y
	z

	13
	12
	11
	10
	9
	8
	7
	6
	5
	4
	3
	2
	1









Use the code to find the answer to the joke.






HA

	a
	b
	c
	d
	e
	f
	g
	h
	i
	j
	k
	l
	m

	26
	25
	24
	23
	22
	21
	20
	19
	18
	17
	16
	15
	14


	n
	o
	p
	q
	r
	s
	t
	u
	v
	w
	x
	y
	z

	13
	12
	11
	10
	9
	8
	7
	6
	5
	4
	3
	2
	1









Use the code to find the answer to the joke.






HA+
	a
	b
	c
	d
	e
	f
	g
	h
	i
	j
	k
	l
	m

	26
	25
	24
	23
	22
	21
	20
	19
	18
	17
	16
	15
	14


	n
	o
	p
	q
	r
	s
	t
	u
	v
	w
	x
	y
	z

	13
	12
	11
	10
	9
	8
	7
	6
	5
	4
	3
	2
	1








What is a history teacher’s favourite fruit?





the difference between 30 and 53 �
�
�
double 13�
�
�
2 x 6 + 1 =�
�
�
30 – 8 =�
�
�



______   ______   ______   ______





What do you call a small parent?


double 7�
�
�
double 8 + 2 =�
�
�
the difference between 1 and 14�
�
�
half 36�
�
�
2 x 7 =�
�
�
3 x 2 =�
�
�
half 30 – 1 =�
�
�






______   ______   _____   _____   _____   ______   _____








Where do sick ships go?





double 11 + 1 =�
�
�
20 – 8 =�
�
�
12 + 12 =�
�
�
double 8�
�
�
double 3 + 2�
�
�






The        ______   ______   ______   ______   ______





What has a bottom at the top?





double 13�
�
�
the difference between 30 and 45�
�
�
double 11�
�
�
4 x 5 =�
�
�






______                  ______   ______   ______





What do you call a dog on a beach?





3 x 9 – 1 =�
�
�
10 + 10 – 1 =�
�
�
half 24�
�
�
half 14�
�
�
30 – 7 =�
�
�
4 x 3 =�
�
�
2 x 10 =�
�
�






______              ______   ______   ______        ______   ______   ______





What do you call a small parent?


double 7�
�
�
double 9�
�
�
the difference between 1 and 14�
�
�
half 36�
�
�
one more than 13�
�
�
half 12�
�
�
half 28�
�
�






______   ______   _____   _____   _____   ______   _____








What is a history teacher’s favourite fruit?





30 – 7 = �
�
�
double 13�
�
�
the difference between 3 and 10�
�
�
30 – 8 =�
�
�



______   ______   ______   ______





What do you call a dog on a beach?





30 – 4 =�
�
�
10 + 9 =�
�
�
half 24�
�
�
half 14�
�
�
30 – 7 =�
�
�
3 + 3 + 3 + 3 =�
�
�
double 10�
�
�






______              ______   ______   ______        ______   ______   ______





Where do sick ships go?





one more than 22�
�
�
20 – 8 =�
�
�
12 + 12 =�
�
�
double 8�
�
�
double 4�
�
�






The        ______   ______   ______   ______   ______





What has a bottom at the top?





double 13�
�
�
the difference between 30 and 45�
�
�
double 11�
�
�
double 10�
�
�






______                  ______   ______   ______





What do you call a small parent?


7 + 7 =�
�
�
20 – 2 =�
�
�
20 – 7 =�
�
�
10 + 8 =�
�
�
one more than 13�
�
�
the difference between 6 and 12�
�
�
12 + 2 =�
�
�






______   ______   _____   _____   _____   ______   _____








What is a history teacher’s favourite fruit?





10 + 13 = �
�
�
one more than 25�
�
�
the difference between 3 and 10�
�
�
30 – 8 =�
�
�



______   ______   ______   ______





What do you call a dog on a beach?





30 – 4 =�
�
�
10 + 9 =�
�
�
double 6�
�
�
half 14�
�
�
22 + 1 =�
�
�
10 + 2 =�
�
�
double 10�
�
�






______              ______   ______   ______        ______   ______   ______





Where do sick ships go?





one more than 22�
�
�
20 – 8 =�
�
�
double 12�
�
�
one more than 15�
�
�
7 + 1 =�
�
�






The        ______   ______   ______   ______   ______





What has a bottom at the top?





double 13�
�
�
7 + 8 =�
�
�
double 11�
�
�
double 10�
�
�






______                  ______   ______   ______





What do you call a small parent?


one less than 15�
�
�
20 – 2 =�
�
�
one more than 12�
�
�
one less than 19�
�
�
one more than 13�
�
�
5 + 1 =�
�
�
12 + 2 =�
�
�






______   ______   _____   _____   _____   ______   _____








What is a history teacher’s favourite fruit?





25 – 2 =�
�
�
one more than 25�
�
�
one less than 8�
�
�
20 + 2 =�
�
�






______   ______   ______   ______





What do you call a dog on a beach?





one more than 25�
�
�
one less than 20�
�
�
11 + 1 =�
�
�
one more than 6�
�
�
22 + 1 =�
�
�
one more than 11�
�
�
18 + 2 =�
�
�






______              ______   ______   ______        ______   ______   ______





Where do sick ships go?





one more than 22�
�
�
10 + 2 =�
�
�
23 + 1 =�
�
�
one more than 15�
�
�
7 + 1 =�
�
�






The        ______   ______   ______   ______   ______





What has a bottom at the top?





25 + 1 =�
�
�
one more than 14�
�
�
one less than 23�
�
�
10 + 10 =�
�
�






______                  ______   ______   ______








